[07] KEHT-FAER (E)

X2 Tsil FABBAN)
# s BRA 13,912
ER A& 1,711
#X_ZTH 239
AR—TH 2,712
BEEt=EER 826
7K S HT 794
) 575
= AR Al 1,736
A=V TSHH 1,318
IO 597
A ET 1,005
BTE 681
BT Al 5,095
ik S EBFTHI 1,428
EXEREITE 6,876
IR 659
TEEF 262
BEH 253
SN Tk 371
Fihig 359
BFERE AR 193
FERE _RIEA 401
3 1th 75 [ th AT 121
Gk = 35} 1,517

20144 11R

(%)

100
90
80
70
60
50
40
30
20
10

0

3R BIRERE

76.6

(A)
3.0

2.5
2.0
15
1.0
0.5

0.0

FMRE#R &

2.6

1.9

HRRAT~FERE Rt FEKFEZRIRAT~EAEER

FRAEHEIS

5%

HRERAT~ &
FERE TRk~ mEE X

95%

SE AR

-1/1-




